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FOR # l-%} DETERM INE W HE THER.
VOU WOULD USE LAW OF SINES OR
LAW 0F COSINES. GIVE A REASON FOR
vour ANSWER (SAS,ASA erc)

N0 NoOT SoLvel

@ FIND THE GeoMETEIC MEAN OF
2 AND 5.(LEAUE VOu2 ANSWeR IN

SIMPLEST RADICAL FORM . DECIMAL
ANSWEPLS Wil BE CONS IDERED

INCORRECT)

FOR #5-F, USE Your CALCULATOR

TO FIND €ACH TRIGONOMETRIC RATIO.

(POUND T6 THE NEAREST HUNDREDTH)

@ FIND m L (ROUNDTO THE NEAEEST DEGREE)
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A

NA ME

PER. GROUPH#

CHAPTER. ¥ TEST REVIEW

FIND LM (ROUND TO THE NeAeeT
HUNDREDTH)

L
[ :'1.%'
M N
@ Find ke (ROUND TO THe NeAresT
HUNDREDTH)

SN

@) FIND % (ROUND TO THE NEAREST
HUNDREDTH)

el
%
@ 4 prane 1S 3200 FEET UP IN

THE AIR. THE ANGLE OF ELEVATION

FEOM THE CONTROL TIWER 70 THE

PLANE IS 34" WHAT IS THE
HORIZONTAL DISTANCE BETWEEN THE

PLANE AND THE CONTROL TIWERS
(ROUND TO THE NEAEEST FOOT)

(B3 WHICH £ 1S THE £ OF ELEVATIONT
WHICH L 1S THE £ OF DEFRESSIONT
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